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Section 1 - Reasoning

No. of Questions: 50

1) Select the alternative that will replace the question mark in the given analogy.
459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

1) 39 [ered HTITT Y Sl T TN Areed & geaT Riga & gfaenfa S|

459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

2) Select the alternative that will replace the question mark in the given analogy.
25:5::169:7

A) 9
B) 11
C)13
D) 18

2) Y fqeheq BT Y ol T U ey & uee e & gfaeanfa s
25:5:: 169 : ?
A) 9

B) 11
C)13
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D) 18

3) A number P is a least two digit number such that it leaves 2 as a remainder in each case when
divided by 4, 3 and 8. Find the number P.

A) 26
B) 42
C) 29
D) 48

3) T&AT P TS «gqH G 3idhi §&AT 5, Sl 4, 3 3R 8 garT fAenfoid 819 R Tedeh A 2 2 AW &
&9 & 1 ¢ | TEAT P DI AT Y|

A) 26
B) 42
C) 29
D) 48

4) Observe the given series.What number should come next in this series?

32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) &Y TS ST BT Q6707 HY| 3 ST 3 S DM Fer S anfge?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C)33
D) 35

5) W is half of J. J is double of K. K'is 109. The value of "W" is

Page20f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

A) 108
B) 219
C) 109
D) 218

5) J BT SMYTW 51 K BTGHT J 1 K BTHM 109 G| "W" BT HH fhcell 572

A) 108
B) 219
C) 109
D) 218

6) In a certain code, MOUNTAIN is coded as NIATNUOM. What will be the code of the word
MGSFFJSK?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

6) TF Ht2rd Tw §# MOUNTAIN & NIATNUOM % =9 § Fie a5 63T J1aT 81 as8 MGSFFJSK T e
FT ZRIT?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

7) In a certain code, PARAS is coded as QBSBT. What will be the code of the word NGTTY?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

7) U= A2 %z § PARAS T QBSBT & &9 # %2 a3 (a7 J1aT 21 58 NGTTY T %2 F7T 1?2
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A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

8) A image is given on the left with a pattern. Which of the four images on the right does NOT have
the pattern of the left image as its part?

g LAY |

1 2 3

4

A) 1
B) 2
C)3
D) 4

8) TS 3R U Yeet & Y U RAF & T8 g1 a1 3R $r IR T 7 T frgeT a1 =7 &7 UM 71gT 82

g LAY |

1 2 3

4

A) 1
B) 2
C)3
D) 4

9) Find the odd one out.

A) Car : Vehicle
B) Iron : Metal
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C) Chair : Furniture
D) Door : Window

9) faw#H w1 S|

A) ®TR: dTed

B) @rer: 41,
C)@Fﬁ:ﬁﬁﬂ?
D) garer: g

10) You are given a statement.
Statement : Today is NOT Monday.
Which of the following questions can be answered by using the given statement?

A) Is it a Wednesday tomorrow?
B) Is it a Tuesday tomorrow?

C) Was it a Saturday yesterday?
D) Was it a Friday yesterday?

10) 31U TH HY &7 T g
PHY: 3T GHAR LT B

T T HYT BT IYTNT B fere=T & T DI A URef Bl 30 &A1 o el 82

A) a1 HA JYAR &7

B) & e HITTTAR 87
C) arar &t erfAaR U172
D) &1 o Yoraw U1?

11) What will be the 60% of a number if 80% of that number is 1607

A) 90
B) 120
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C) 140
D) 150

11) e G BT60% F4T BT, 3R I FEIT HT180%, 160 32

A) 90

B) 120
C) 140
D) 150

12) Pointing to lady, Raju (Raju is a male) said ,"She is the daughter of the wife of my son's father."
How is the lady related to Raju's wife?

A) Sister

B) Mother

C) Daughter

D) Daughter-in-law

12) Ueb Ao T 3R SURTHRA G, IS, (15 Teb TN &) 7 D8], "q6 HR ac o e &b eaht Hr 9 1"
AT 9] 1 vt I S Fafera 82

A) §&q
B) of
C)adr
D) 58

-]

13) If 'Son' is related to 'Daughter’, then 'Brother' is related to

A) Aunt

B) Sister
C) Father
D) Friend

13) IfE 'qer '3 Q Faftrg g, a1 "HIS' vy gaftra 82
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A) gt
B) §5
C) Ryar
D) areat

14) Find the cube that can be formed by folding the sheet shown below.

b L=

-

Z

S

e Iﬁl_\

14) 9 P1 g& 8 A1d Reare 7T 2T 3l wies (HSHY) B I™T Sl Thdl 5 |
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15) Among the given group of 4 images, which set of images can be classified as a group?

15)
R0 T 4 =T & |9 | 7 ohd 9qga =l &7 UF 998 & €9 § a¥(6d hAT ST 96T 72
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/
N /\
)\ \
/

16) RemmEad # @ Ha @ e v mF & gdor om gHi?

i

s

A)E
0/ 7 7

£
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/
0\ / \
\ \
/

17) Select the alternative that will replace the question mark in the given analogy.
Lion : Den :: Honey-bee : ?

A) Meadow
B) Holes
C) Hives
D) Burrow

17) I fqeheq DT TU HY ol T T ey A ure R &l gfacanfia S|

TR : T AYFFHT : ?

A) IR
B) forer
C) ot
D) fig

18) A train moving at a speed of 54 km/hr crosses a pole in 10 seconds. How long will it take for
the same train to cross a bridge of length 150 m?

A) 20 seconds
B) 25 seconds
C) 30 seconds
D) 40 seconds
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18) 54 km/hr T 71fY T T TH ¢oF 10 YHSH T U I UR Bl g | 3T &eF BT 150 m AT aTat
Ud 1 UR R  fheelr GHY TR 2

A) 20 THS
B) 25 ddhe
C) 30 Adhe
D) 40 ddhe

19) What is the next term in the given series?
The series is 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

19) & T8 Tl & 3raTel TEAT T 67
ST Q- 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

20) If x% of x is 900, then the value of 4x is

A) 3600
B) 2400
C) 1200
D) 6000

20) T x BT x% 900 €, dl 4x HTHM fhrc=T BHI?

A) 3600
B) 2400
C) 1200
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D) 6000

21) What is the coded number for WNCSZV that can be inferred from the following image?
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

21) WNCSZV & T & s T&aT &1 811 il foe=T R & SFTHT Sl S Febell 57
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

22) To appear in an exam P, at least three out of these four conditions are to be satisfied:

1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.
4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.
4) Weight more than 50 kgs.

Sarang has 75% marks in 10th and 64% marks in 12th. He is 22 years old, and has a weight of 67
kgs.
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For which of these exams is he eligible?

A) Only P

B) Only Q

C)Both P and Q
D) Neither P nor Q

22) T qdieT P & 3ueyd 51 & oI, 37 IR ordf & 9 $H ¥ HH a4 oref g 1 =ik w:
1) 1091 & B I HH 60% 3 |

2) 1241 & $H I HH 55% 3 |

3) 31 18 a¥ Y 31 |

4) 99 60 kgs T 31T |

odieT Q # 39Teyd §H & faw, 39 IR ordf & ¥ &0 W B &l 31wy §:
1) 10 &1 & HH I HH 70% 3 |

2) 12 9t 1 HH Y HH 50% 3 |

3) 31 17 ¥ ¥ 310 |

4) o 50 kgs I 31Tl

IR &1 10 d 7 75% 30 &, 1271 7 64% 30 &1 T8 22 A B8, 3R IYBTIo 67 kgs 8| 378 T
fre 9faT & faw a8 AT 872

A) Sad P
B)®adQ
C)p 3R Q gt
D)FdipaiRa&Q

23) To appear in an exam P, at least three out of these four conditions are to be satisfied:

1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.
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4) Weight more than 60 kgs.

To appear in an exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.
4) Weight more than 50 kgs.

Radha has 61% marks in 10th and 52% marks in 12th. She is 21 years old and has a weight of 74
kgs. For which of these exams is she eligible?

A) Only P

B) Only Q

C) Both P and Q
D) Neither P nor Q

23) T qdieT P & 3ufeyd 81 & oI, 37 IR oraf & 9 $H ¥ HH i oref g 1 =ik w:

1) 1091 & HH I HH 60% 3D |
2) 1241 & $H I &HH 55% 3|
3) 3G 18 a¥ Y 310 |
4) 9o 60 kgs I 31|

e Q 7 39y 81 & fw, 37 IR oral & A HH I HH ol HTa2TF &

1) 1091 / HH I HH 70% 3D |
2) 1241 & $H I HH 50% 3|
3) 3G 17 ¥ ¥ 310 |
4) 9o 50 kgs I 31|

YT & 100} 7 61% (b &, 128 77 52% 3l &1 T8 21 T F1 & 3R IYBIIH 74 kgs 81 59 T frer
o ieTT & fore 98 T 82

A) BHad P

B) %ddQ
C)p 3R Q gt
D)gdipsiRadQ
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24) To appear for an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are required:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.

3) Age more than 17 years.

4) Weight more than 50 kgs.

Lata has 45% marks in 10th and 34% marks in 12th. She is 15 years old, and weighs 64 kgs. For
which of these exams is she eligible?

A) Only P

B) Only Q

C)Both Pand Q
D) Neither P nor Q

24) T it P & 3uReyd 51 & o, 37 IR ordf & 9 $H ¥ HH i orf g 1 =ik

1) 1041 & 1 I HH 60% 3|
2) 1201 & U I HH 55% 3|
3) 31 18 a¥ A 3170
4) a9 60 kgs I 31|

gfier Q # 39y 89 & fav, 39 IR oraf F T HH I HH ol HG2TF &

1) 104t & B0 J HH 70% 3i|
2) 1201 & HH J HH 50% 3P|
3) 31 17 a¥ I 317
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4) o 50 kgs I 31Tl

AT & 109 T 45% b &, 12 o 7 34% 3i &1 I8 15 T $T 8, 3R IYPHIISH 64 kgs B 1 517 I
e areTr & forw 98 AT 82

A) Had P
B)®aaQ

C) p 3R Q gt
D)gd@p3iRa&rQ

25) A figure is given on the left with a pattern. Observe and find out which of the three images on
the right looks similar to the right half of the pattern on the left?

A) 1
B) 2
C)3
D) Both 1 and 2

25) aT$ 3R Teh teet Tfed Ueb T2 o T B | earmerdoh 3FRw SR A1 e ik g ok & o Rt
FI DI & SR P Yoot S ey MY REA & T fewar g2

Page160f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

A) 1
B) 2
C)3

D) 1 3iR 2 gt

26) Which of the given option will NOT share the same property as the elements of the given set?

Mouse, Keyboard, Printer

A) Scanner

B) Tennis

C) Monitor

D) Web Camera

26) 3T T fashedt & ¥ DM A1 Fched ST [UREasid B I el ST Gl T T I F ded HRd &2

A) £t
B) +frg
C) mfforex
D) 35 w1

27) You are given a statement.

Statement: P is a prime number.

Which of the following questions can be answered by using the given statement?
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A) Is P divisible by 27?
B) Is P divisible by 3?
C) Is P divisible by 47?
D) Is P divisible by 5?

27) 3T U U f&ar T g1
HYF: P TP HHST TEAT G|

T 7T FYT BT IYIN] B o7 & T B Y U2t BT 30X T o JhdT 22

A) F1 P, 2 | e 82
B) =1 P, 3 @ Rystrswr €7
C)arp, 4 1 fRssa &2
D) &= P, 5 ¥ s 82

28) You are given a pair of statements.

(i) P is an odd number.
(i) Q is an even number.

Which of the following questions can be answered by using the given statements?

A) What will be the remainder left when (P+Q) is divided by 27?
B) What will be the remainder left when (P+Q) is divided by 3?
C) What will be the remainder left when P is divided by 37?
D) What will be the remainder left when Q is divided by 47?

28) 3T =it T T SIS Er TS &
(i) P U faws g g |

(i) Q U 9 F&ar ]

T T =T BT IUAN] BRP T3 & IV Fg U2 BT 39X 3T Sl bl o2

A) S§ (P+Q) B 2 T TaemTora famam ST € ol QS arar g2
B) Sa (P+Q) 13 ¥ fysiora faar STl & dl [ & SN2
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C) S5 P 1 3 T fasnfag frar STdT @ o AV &ar gNTT?
D) 9§ Q 14 I RFanfaa frar S1dT & aF 9B &1 SR

29) 68% of the students passed in an examination. If the number of students who failed are 256,
then the total number of students who passed are

A) 544
B) 623
C) 800
D) 657

29) Ueh Y& 7 68% erait 3efiol U1 TR et faganfat i wwar 256 8, o 3¢t ezt
& FeaT Rl 37

A) 544
B) 623
C) 800
D) 657

30) Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

A) Sister

B) Mother
C) Daughter
D) Niece

30) gl 1 AT Sfidd & far 7 sl 98 8 1 gRel BT Sha I F=ar Tae 872

A) 559
B) ar

C)adr
D) st

31) Three among the four options mentioned below belong to the same class or group. The odd
one out is
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A) Square
B) Cube

C) Pyramid

D) Cylinder

31) T R T IR fashed & I A T & et a1 TE F Fafira &1 50 I SRAT DI 1 87

A) EFarax

B)ar'q\a
C) _fas
D) feivsy

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures:

O

o

Q

(A)

A) 1
B) 2
C)3
D) 4

(B)

(C)

)

Answers Figures:

PIOPIP

(1) (3 (3) (4)

32) B Wl IR P & T8 FoAEAT STy b deed Bl qRT AT

Problem Figures:

O

B

<

(A)

(B)

©)

D)

Answers Figures:

K ARAN AN

(1) (2) (3) 4
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33) Among the given group of 4 images, which set of images can be classified as a
group?

30 T 4 =T & |9 | 7 hd 9qga =0 &1 UF 998 & &9 § ¥ (hd7 ST 96T g2

34) Identify the mirror image of PS8R17L3.

A) £E1VTA8BESH
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B) €14148Sd
C) EVIrA8eq

D) €47148Sd

34) PS8R17L3 &1 gUuT S & Ugdld Hi|

A) £EINTH8ZY

B) €14148Sd
C) EYArA8eT

D) £4711d8Sd

35) Select the alternative that will replace the question mark in the given analogy.
Algeria : Algiers :: Austria : ?

A) Kabul
B) Tirana
C) Suva
D) Vienna

35) U Ao BT L Sl U T Freed & e gt Dl ufaeamid S|
TSR : ooty :: 3TfEear: ?

A) i
B) faRmaT
C) g

D) fazrem

36) The value of a car depreciates at the rate of 8% per annum. What will be the price of the car
after 2 years, if the current worth of the car is ¥ 3,00,0007?

A) % 376510
B) ¥ 342170
C) X 285640
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D) ¥ 253920

36)

U T T GoF ITAad 8% =l 3¢ | = ATAT g1 2 AT I18 FHL HT oI FAT T T THHT FaqTT JoF %
300000 27

A) % 376510
B) ¥ 342170
C) X 285640
D) ¥ 253920

37) The next number in the series is

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

37) 4Gl F 3Tl TEAT B A 72

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

38) The next number in the series is:

6, 20,42,72,7

A) 100
B) 102
C) 110
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D) 112

38) #GCl & 3eTel TEAT D g7
6,20,42,72,?

A) 100
B) 102
C) 110
D) 112

39) A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some runs
because of which his average increased to 40. What was his score in 11th innings?

A) 40
B) 50
C)70
D) 80

39) 10 TR 3 Teh Fhhex BT S THR 36 UT1 STHT 11T IRy 3 I F© I 1T, s BRI
IIHTITT Tgh40 B Tl 11} Iy 7 STBTERR 77 Y12

A) 40
B) 50
C) 70
D) 80

40) If 'bcd’ is written as ‘def’, then what is the code for ‘true’?

A) dcek
B) kpuz
C) vtwg
D) fimw

40) AR 'bed' Bl 'def B &9 & @ T 8, Al 'true’ & forw & ¥am BR?

A) dcek
B) kpuz
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C) vtwg
D) fimw

41) A figure is given on the left with a pattern. Observe and find which of the three images on the
right looks similar to the top half of the pattern on the left?

A) 1
B) 2
C)3
D) Both 1 and 2

41) a7€ 3R TP Yoot & 1Y U [T & 718 § | SAIdieh TAT 3R 77T Foiw o & iR o st
F Y B I a1 3R P et & 2N 318 ey & 99 f@ar 82

A) 1
B) 2
C)3

D) 1 3R 2 gt

42) Which of the following options will NOT share the same property as the elements of the given
set?

ADG, CFI, BEH, DGJ
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A) MPS
B) NQT
C)LNQ
D) RUX

42) RFEATATET & T D 1 fashed T T J< P Al b oY 01 I T 7t B2

ADG, CFI, BEH, DGJ

A) MPS
B) NQT
C)LNQ
D) RUX

43) You are given a statement.
Statement : Circle P has a radius of more than 6 cm.
Which of the following questions can be answered by using the given statement?

A) What is the diameter of P?

B) What is the area of P?

C) Can a square of side length 15 cm completely lie inside P?
D) Can a square of side length 2 cm completely lie inside P?

43) MU TH FHUF & 7T B
HYT: GeT P BT 3521 6 cm W 310 ¢ |

T T HYF BT IUTNT B ore=T & Y e T9oT b1 3K &7 ol Fobell 272

A) P Hlearg T 87
B) P o1&t ther T 87
C) & 15 cm T A TS AT T FHBIU T T P P ek G TR ¥ AR 81 Gabal 82
D) & 2 cm =11 H¥ e Tel U YA I3 P & HidR Gl avg I fAfRd 81 Yabdl 87
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44) The combined age of Alex and Charles is 12 years more than the combined age of Reeta and
Charles. 18 years ago, Alex was three times as old as Reeta. The present age of Reeta is

A) 24 years
B) 26 years
C) 28 years
D) 30 years

44) TITFE 3R AT Y FYF 31 Jar 3R AT Y TP 31T F 12 3§ 310k B 1 18 W Us,
T Jar Y A AT Sarer 37 BT YT AT Y TFATT 31 Bhdel 67

A) 24 a§
B) 26 a¥
C) 28 a§
D) 30 oy

45) 4 means 'is the sister of', 5 means 'is the mother of and 2 means 'is the brother of'. The relation

is expressedas X2Y,Y52Z,Z4 N, and N 2 L. Which of the following statements is valid for the
given relation?

A) L is the son of Y

B) N is the daughter of X
C) N is the brother of X
D) Y is the mother of L

45) 4 BT HT R TEIE, 5P HT eI A & IR 2 PI3F e HIHR S I JIY HIX2Y, Y52, Z4N,
RN 2 L & &9 3 cgad farar T 8| feaafaf@d & @ &9 91 $YF R TN I&Y & fore 39 82

A)Y®ITTLE

B) X T a&IN g
C)XBTUENT

D)L#frarys

46) Rahim is the son of Rehan, who is the son of Sana. Sana's daughter has only one child,
Shahrukh. How is Rahim's sister related to Shahrukh?
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A) Uncle
B) Aunt
C) Mother
D) Cousin

46) A, Y6 BT 8, S AT BTl & | JAT 6T 9T HT1HIA U 9<aT §, eMeed | WA Fr 98+
T U Y et 87

A) T

B) =r=it

C)ar

D) 7ardr 98

47) Three of the four choices mentioned below belong to the same category or class. Find the odd
one out.

A) Lionel Messi

B) Cristiano Ronaldo
C) Dani Alves

D) Paul Walker

47) 90 3T TN IR et & T 9 T & Aol I7 a9t & § | 5e137 ¥ SRITTT A1 hifor|

A) foraiarer AEEY

B) fnfecamsi UeAtest
C) ganfey s

D) ofd afex

48) Given below are some of the different views of a dice. What would be the number opposite to
the number 47?
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”I’

A) 9
B) 5
C)7
D)6

48) A Th UM & faffiest ®9 U MU §| T&T 4 & Ui et 7 T&ar 41 ghil?

4~

A) 9
B) 5
C)7
D)6

=4~

49) Among the given group of 4 images, which set of images can be classified as a group?
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49)
R T 4 ==t ® &, ==t % g 99ga &1 v 998 | autigd a1 ST aar 8?2

50) Find the odd one out.

A)

50) faweT Jra FifsT]

A)

SN
N
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Section 2 - English Language

No. of Questions: 50

51) Identify the Antonym for the word - pitfall

A) Safeguard
B) Danger
C) Monitor
D) Inaction

52) Choose the correct article to complete the sentence:
Every Sunday Joan goes to church.

A) No article required
B) an

C) the

D)a

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) I always go to / (B) seeing a film/ (C) on Friday evenings./ (D) No Error.

A) A
B) B
c)C
D)D

54) Choose the best meaning of the underlined idiom in the sentence.
The friends meet each other once in a blue moon.

A) for a short time

B) once in a while

C) under the blue moon light
D) during the full moon

55) Fill in the blank with the correct pronoun:
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| lost the pen | bought yesterday.

A) that
B) whom
C) where
D) who

56) Fill in the blank with correct option:

She hid the letter a pile of papers.

A) over

B) among
C) beneath
D) with

57) Fill in the blank with correct option:

| parked my car a tree and went in search of my dog.

A) between
B) over

C) above
D) under

58) Choose a suitable option to complete the sentence:
His father is very proud of his .

A) failure

B) downfall
C) success
D) misfortune

59) Identify the Compound sentence.

A) There is no magic formula for success.
B) He is a family friend.
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C) He lost the next page of his speech and floundered for a few seconds.
D) George and Harry are good friends.

60) Choose the word that is correctly spelt.

A) Descrete
B) Discrite
C) Discrete
D) Diescrete

61) Identify the correct Synonym of the underlined word:
| don't think you understand the gravity of the situation.

A) Usefulness
B) Cheerfulness
C) Calmness

D) Seriousness

62) ldentify the correct Synonym of the underlined word:
They invited me for dinner and | thought it would be churlish to refuse.

A) Polished
B) Rude

C) Polite

D) Courteous

63) Fill in the blank/s with the correct form of the verb given in brackets:

My mother never

(curse) anyone during her lifetime.

A) cursed

B) curse

C) will curse

D) will be cursing
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64) Fill in the blank/s with the correct form of the verb given in brackets:

I (decide) to complete this work by the end of the day.

A) am to deciding

B) will decides

C) had been decided
D) decided

65) Choose the correct verb to complete the sentence:
She was chosen for the role because she very well.

A) sings

B) was singing
C) is singing
D) will sing

66) Choose the correct verb to complete the sentence:
He the article last night.

A) writes
B) written
C) wrote

D) will write

67) Identify the Antonym for the word - analogous

A) Different
B) Similar
C) Digital
D) Manual

68) Choose the correct article to complete the sentence:

They went for a holiday to _ Andamans.

A) a
B) an
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C) the
D) No article is required

69) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) Our new sofa / (B) don't fit / (C) through the door. / (D) No Error.

A) A
B) B
c)C
D)D

70) Complete the sentence with the correct phrase.
The Indian athlete won the gold medal because he ran

A) for great speed
B) at top speed
C) on great speed
D) in great speed

71) Choose the meaning of the underlined idiom in the sentence.

She acted professionally by keeping the terms of her contract as she did not want to burn bridges
at her old job.

A) to close the way backward
B) to close the bridge

C) to break the barrier

D) to start all over again

72) Fill in the blank with the correct pronoun:

The jury is not ready with verdict.

A) his
B) its
C) their
D) her

Page360f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

73) Fill in the blank with the correct pronoun:
Please listen to he says.

A) what
B) that

C) which
D) them

74) Fill in the blank with correct option:

The tunnel goes right the city.

A) between
B) over

C) above

D) underneath

75) Choose the correct option to complete the sentence:
She had to take rest, because she was after the climb.

A) excited

B) elated

C) bored

D) exhausted

76) Choose the correct option to complete the sentence:
The boy always does as he is told.

A) careless
B) naughty
C) indolent
D) obedient

77) Identify the Complex sentence.

A) The radio started to crackle.
B) The logs crackled and popped in the fireplace.
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C) An elderly couple lives next door.
D) When | was younger, | could stay up all night.

78) Choose the word that is correctly spelt.

A) Questionnaire
B) Questionaire
C) Questionnair
D) Questionnairre

79) Choose the word that is correctly spelt.

A) Ambivelence
B) Ambivaylens
C) Ambivaelance
D) Ambivalence

80) Identify the correct Synonym of the underlined word:

A decrepit old man sat on a park bench.

A) Clumsy
B) Frail

C) Happy
D) Tall

81) Identify the correct Synonym of the underlined word:

He was dressed scantily.

A) Successfully
B) Inadequately
C) Sufficiently
D) Ideally
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82) Fill in the blank/s with the correct form of the verb given in brackets:

Samuel (complete) his postgraduation and soon (leave) for the US.

A) completed, leaves

B) has completed, will be leaving
C) will complete, will leaves

D) completed, lefts

83) Fill in the blank/s with the correct form of the verb given in brackets:

Ram (go) to be an engineer when he (grow) up.

A) was going, will grow
B) goes, grew

C) will go, grows

D) is going, grows

84) Choose the correct verb to complete the sentence:
The garden is now better kept than it last year.

A) was
B) is

C) were
D) has

85) Choose the antonym of the underlined word.
Visiting Rajasthan during the summers will give rise to chagrin.

A) Exasperation
B) Pleasure

C) Mortification
D) Vexation

86) Choose the correct article to complete the sentence:
May | have pleasure of your company?

A) a
B) an
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C) the
D) No article required

87) Choose the correct article to complete the sentence:
He drives his car at 60 kilometres hour.

A) a

B) an

C) the

D) No article required

88) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) The temperature are / (B) expected to be in / (C) the eighties tomorrow. / (D) No Error.
A) A

B)B

C)C

D)D

89) Choose the meaning of the underlined idiom in the sentence:

Ronaldo kept a stiff upper lip all the time while he was being treated in the hospital.

A) showed off

B) showed joy

C) showed courage

D) showed reservations

90) Choose the Pronoun in the given sentence:

To whom should | write?

A) to

B) should
C) write
D) whom
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91) Fill in the blank with the correct option:

the river lies the village of Shantipur.

A) On

B) After
C) Before
D) Beyond

92) Fill in the blank with correct option:

Please put your shoes before you step out onto the stage.

A) for
B) of
C)on
D)in

93) Choose the correct option to complete the sentence:
The accountant after he was accused of fraud.

A) rejoiced
B) remained
C) resigned
D) receded

94) Choose the correct option to complete the sentence:
His career is by his careless attitude towards work.

A) effected
B) affected
C) flourished
D) spiraled

95) Identify the Compound sentence.
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A) She mumbled something about being too busy.
B) These exercises build muscle and increase stamina.
C) He was muttering to himself.

D) Unfortunately some poisonous mushrooms look like edible mushrooms.

96) Choose the word that is correctly spelt.

A) Disseminate
B) Dessiminate
C) Desseminate
D) Desiminate

97) Identify the correct synonym:
Eloquence

A) Attention

B) Humbleness
C) Delusion

D) Fluency

98) Identify the correct synonym:
Avid

A) Uninterested
B) Keen

C) Indifferent
D) Submissive

99) Fill in the blank/s with the correct form of the verb given in brackets:

He (explain) the rules several times but | did not understand them.

A) explained

B) is explaining

C) will explain

D) will be explaining
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100) Choose the correct verb to complete the sentence:
The Bond movie, 'Die Another Day' is tonight.

A) premier

B) premiering

C) been premiere
D) to premiered
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Section 3 - General Awareness

No. of Questions: 50

101) Which yesteryear actress has been conferred the Master Deenanath Mangeshkar Lifetime
Award 20197

A) Helen

B) Asha Parekh

C) Waheeda Rehman
D) Hema Malini

101) & TTd T AT D AR AT HNRER ARHEISH 37a1S 2019 T FFaATfad fhar 141 82

A) ¥aq
B) smem U
C) arer YeHH
D) g anforett

102) Which vitamin is necessary for calcium absorption in the body?

A) Vitamin-A
B) Vitamin-B
C) Vitamin-C
D) Vitamin-D

102) 2R # Fioerra & AN & frw S AT [FerfAeT sraeas gid g2

A) fgerfa=-A
B) fyerfaer-B
C) Rerfa=-C
D) fgerfa=r-D

103) Which of the following is NOT a water harvesting system in India?

Page440f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

A) Rojison
B) Khadin

C) Kuhl

D) Surangam

103) fFATaIf@d & Q S 91 HRA & Sd T JOTTel 78f 872

A) ifore
B) @ifes
C)W

D)QERTI'J:[

104) In 1953, Andhra Pradesh became the first state in India to be created on the basis of

A) Religion
B) Language
C) Caste

D) Population

104) 1953 #, 37 g2 el f@a & 9 forg MUR W a1fad g1 ard YR &I Ugdl Tog a9 717

A) 3§
B) o
C) sy
D) St

105) Muga silk is produced in which of the following states of India?

A) Karnataka
B) Rajasthan
C) Assam

D) Chattisgarh
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105) T[T IR P 3culea HRA & Aefarad & ¥ e T & 8id1 82

A) T

B) Irerearme
C) 3rqH

D) aeireere

106) Nataraja, Lord of Dance is a depiction of which Hindu god?

A) Shiva

B) Ganesha
C) Karthikeya
D) Indra

106) T qddl, TeRIol fhd Reg qadl &l T #d &2

A) farg

B) Trorgy
C) mfcira
D)s—;‘r

107) Which of the following states has the longest coastline in India?

A) West Bengal
B) Goa

C) Gujarat

D) Odisha

107) YR & fe=rfaf@a & 9 fFa To & Jad ddl ded™dl g2

A) afers ST
B) mar

C) 1orRrd

D) snfaar
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108) The biggest canal project in India that starts from the Harike barrage at Sultanpur, a few
kilometers below the confluence of rivers Sutlej and Beas is

A) Ganga Sagar Canal Project
B) Mahanadi Canal Project

C) Indira Gandhi Canal Project
D) Son Canal Project

108) YR & FodTeTaR & gReh SRIS1 I & T arell T FoI6R IRASTAT DI Ul 5, Sl Faers 3R
T AR B HTH 9 $B fheleler R 3

A) T IR 18R ISt
B) #greidy 78R afastn
C) gfezr ieht Tex aRAsT=
D) |1 78R afarsrar

109) Which of the following Navratnas was responsible for creating the successful land revenue
system for Akbar?

A) Birbal

B) Raja Man Singh
C) Raja Todar Mal
D) Faizi

109) Fafaf@a & ¥ fFa Fatce A 3[heR D foT YWBd Y IsIEd Ul b1 [y fomam U1?

A) dkad

B) I O
C) a1 ereryd
D) Gaft

110) Who was victorious among the following rulers in the Second Battle of Panipat?
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A) Akbar
B) Hemu
C) Sher Shah Suri
D) Babur

110) UFIU o gfaeia Yoy # ol amaet & B sl gaf ur?

A) 3rpar
B) 39
C) 2r=re I

D) s1er

111) As per the Election Commission, in the 2014 general elections, which of the following Indian
states had the highest number of Lok Sabha seats?

A) Rajasthan

B) Maharashtra
C) Bihar

D) Uttar Pradesh

111) AT 3ANT & Harfaeh, 2014 & TS TG 7, Reafafad YR st 7 4 frg Tsa Hr
ANBHT FieT Hr TEar ol e di?

A) TrsTEaTe
B) sgmrSe
C) R

D) 3z geer

112) EVMs are used in Indian General and State Elections by voters to cast their vote. EVM is an
acronym for

A) Electrical Voting Mechanism
B) Election Voting Machine

C) Elected Voting Member

D) Electronic Voting Machine
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112) HRGIG 31 AT 3R AT IoATat 3 HAGH & fore HAGIS] garT EVM 13U fhar e g |
EVM o=t 3 ¥ favaer aRauff ereg o7

A) gafdeane alfee AdfAaH
B) sorerer aifear A=A

C) saareg AIfdar AR

D) sarareifores aifar W

113) What was the theme of National Science Day 20197

A) Science and Technology for a Sustainable Future

B) Science for the People and the People for Science
C) Science and Technology for Specially Abled Persons
D) Science for Nation Building

113) IO Tt fead 2019 1 7 fawar (UiH) s U2

A) 7 Rrceerh sifrsa 3 fore ey SR e ey
B) oivait & forw far=irer SiR fasier & forw ant

C) Rycaiar ciait & e Rremer 31K e ey

D) gree fosTor & forw e

114) Who was appointed as the Chairman of the Defence Research and Development
Organisation (DRDO) and Secretary in Department of Defence Research and Development
(DDR&D) in August 20187

A) Dr. Kailasavadivoo Sivan
B) Dr. G. Satheesh Reddy
C) Dr. G. Madhavan Nair
D) Dr. Pravin Kumar Mehta
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114) 31916 2018 # 8T SFTHYT Td fashr T3 (DRDO) & 3reeT IR 6T SFTHY™ U fashra
feTmeT (DDR&D) & TRT & &7 & F fgera o ma1?

A) Sl Feraarieg faae
B) I Sif. gl a2

C) St off. ATeas AR
D) ST wdfor $AR Azl

115) Which of the following players is associated with the sport of 'Wrestling'?

A) Vikas Gowda

B) Shiva Thapa

C) Soumyaijit Ghosh

D) Narsingh Pancham Yadav

115) feT 3 4 $1 I pEerd! "Bl & Wl & Fafed 2

A)mqﬁ@

B) fRrar urar

C) glegsita O

D) 7xféig daw arad

116) Yogeshwar Dutt, an Indian sportsman, is associated with which of the following sports?

A) Swimming
B) Kabbadi
C) Wrestling
D) Boxing

116) URAIT QS IRRaT o, fAefaf@a # ¥ frg 9d I gafeg §72

A) TR
B) g2
C) et
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D) farerasht

117) Which Railway Station in India has become the first ever railway station to get Green ISO
Certification from the National Green Tribunal?

A) New Delhi
B) Habibgunj
C) Guwahati
D) Secunderabad

117) YRA BT DI T I00d T AW el ReFTe @Ry e 1SO FaAToT U ITelT Ugell Iefd Teered
9 T 72

A) 7 faeeh
B) gdllerTs
C) Tramerér
D) fahexree;

118) In March 2019, who among the following was appointed as one of the Managing Directors of
Life Insurance Corporation (LIC)?

A) Nishant Patil

B) Vipin Anand Monday
C) Varsha Sharma

D) Raghu Ram Rajan

118) AT 2019 #, Ae=ifaf@a & ¥ 8 Siia ST 91 (LIC) & yaey foieerent 3 U & &9 &
et T T2

A) eI arfeer
B) fafer s HS
C) gt erAT

D) 3g 3w I
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119) Drikold is a refrigerant that uses

A) frozen water

B) solid carbon dioxide
C) solid nitrogen

D) frozen acetic acid

119) RRFies TH IMWhaie g o1

A) S BT STl BT SEIATS HIATS
B) 310 1T STe3itararss 1 sEdATe Hdl o

C) 31 ATSeISTeT BT SEIATS Bl &
D) S} gU wfdfeeh 3ol &1 ST Bl ©

120) Usually when a yellow curry stain on the cloth is rubbed with soap, it turns brownish-red. This
is because

A)
B)
C)
D)

soap contains an acid

curry contains turmeric that turns brownish-red with base present in soap

curry contains red chilly powder that turns brownish-red with base present in soap
soap does not show cleansing action for turmeric present in curry

120) AT 9 HUSTR T Feoll b e B Uiel GRT I G T TSIl &, A I HR-Iel TT Pl
B SI1dT 21 U8 safaw gidT § F9ife

A)
B)
C)
D)

IS 3 3% Bl 8

A 3 god) BI 3 S TG & HIGG 6TR & T 3 ST WR-T1d I & ot 8

e & A1l A Ur3SGId & O WIgH 3 HIS[G 8TR & Tueh 3 ST HR-alTel T BT 81 ofrl &
AT HTCH 3 HIS[Q godl & forg G It B 1 Fham T fHa =78} Bl 8

121) Which Schedule of the Indian Constitution makes provision for division of powers between the
Centre and the States?

A) Sixth schedule
B) Seventh schedule
C) Third schedule
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D) First schedule

121) HRAR Gfaens 1 fva ST & $g SR T2t & oiid it & st &1 graene g2

A) Tdr 3T

B) et srgeet
C) ehrardy Srget
D) weit ST

122) Which of the following options is NOT matched correctly?

A) Rights Against Exploitation: Article 20-22

B) Right to Equality: Article 14-18

C) Right to Freedom of Religion: Article 25-28
D) Cultural and Educational Rights: Article 29-30

122) fAe=ATaf@d & ¥ $IF A1 fashou TE) &1 9 YA 71gt o2

A) TN & faeey HRAISR: 3w 20-22

B) qrdT &1 31 3rf<aa 14-18

C) enfaies Tacaar o1 31RwR: 3zde 25-28

D) depfar ofR Riemr Haith 31 3 29-30

123) Which place is famous for Chikankari, a traditional embroidery style?

A) Ludhiana
B) Lucknow
C) Hyderabad
D) Mysore

123) DI T TUTT Riehateh Y, T IRUR gl Ael & T uidier 82

A) Q=T
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B) a3,
C) eREe

D) #gz

124) Which of the following statements is CORRECT regarding the Sikh Gurus?

A) Guru Ram Das became Sikh Guru after Guru Arjan Dev

B) Guru Tegh Bahadur appointed Banda Bahadur as the military leader of the Sikhs
C) Gurmukhi Script was given by Guru Arjan Dev

D) The birth place of Guru Nanak is Basarke, India

124) @ 1831t & G9Y o Meafaf@d & 9 HF 9 YT TE &2

A) 1% M <, % 3ot 4d & §1G [ E o

B) 115 d7 S8Iq A Rarwt & Ao Ad1 & §9 & Fear TeIg Bl fgerd
C) TzaE ARy 71 37oieT od garT & it of

D) 1% TS BT sfed 21T HR ¥ SRS ©

125) Baralacha La pass connects which two states of India?

A) Himachal Pradesh and Jammu and Kashmir
B) Himachal Pradesh and Uttarakhand

C) Sikkim and West Bengal

D) Uttarakhand and Uttar Pradesh

125) TSTARITAT &3 HRd & ket &I Tt Bl Sigdl 872

A) AT Y& 3R STFA-HIHR
B) ferAmarer weer iR seRrEs

C) fafgera 3R gfRas STd

D) 3arrds 3R 3a< weer

126) On which of the following rivers is the Panchet Dam constructed?
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A) Damodar
B) Mahanadi
C) Krishna
D) Luni

126) fre=Tfaf@a & § e & R Uad S1Y BT f#Tor fFwar T 82

A) greR
B) Fgrerdr
C) o
D) oft

127) Which civilization deployed the 'Gurukul system' for Education in India?

A) The Vedic Civilisation

B) The Indus Valley Civilisation
C) The Mesopotamian Civilisation
D) The Dravidian Civilisation

127) forg &g 4 HRA 7 18T & faw T[wewa gomelr HT9aR fHar?

A) dfee Ferar

B) ey amdy werar

C) Adrer@ae ge=ran
D) afag @s=ar

128) Which of the following Governor generals of the East India company introduced the most
controversial policy called 'Doctrine of Lapse'?

A) Lord Curzon

B) Lord Mountbatten
C) Lord Dalhousie
D) Warren Hastings
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128) $¥c Sf3aT HU! & eI ITaiT STelieil & ¥ foraer Tad fqarereue sifa dxr & of, ford
ST BT (At BTl 67

A) St FoieT

B) &it& ATSede
C) @its STl

D) g afedsw

129) The National Emblem and Seal of the Government of India was taken from the:

A) Iron Pillar, Delhi

B) Ashoka Pillar, Sarnath
C) Qutub Minar, Delhi

D) Sanchi Stupa, Raisen

129) HRA WBR BT T RIeg 3R HoX B Bl o forr T U1?

A) T8 w91, Reeelr

B) a=iiep &ist, IRATY
C) e HHR, e
D) gfelt &1 equ, a9

130) As per the 44th Constitutional Amendment of 1978, which of the following ceased to be a
fundamental right and remained only a legal right?

A) Right to Work

B) Right to Property
C) Right to Health
D) Right to Privacy

130) 1978 & 443 s JMYT & STUR, Reafaf@d & Y DI A1 Ao 3WFHR 7 WP Dbad
BT IR I T 32

A) HTH BT 3R
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B) Fufy &1 1R
C) Fareey &1 3SR
D) fastar &1 3R

131) The launch of Chandrayaan-2, India's second Moon mission was called off by ISRO due to a
technical snag. The rescheduled date on which this spacecraft was successfully launched is:

A) August 15, 2019
B) August 22, 2019
C) July 22, 2019
D) July 15, 2019

131) HRA & CHR AT AT TNt -2 D FATIUT bl ekt bt WISl b BRUT ISRO EaRT TR R
e T 1| §9 3idAReT I Bl hdAdyde Taifid fhe o & GafieiRa fafdy o At @2

A) 30T 15, 2019
B) 3mrea 22, 2019
C) Jefrg 22, 2019
D) Semg 15, 2019

132) Identify the software unveiled in 2018, to keep track of punctuality of trains as well as freight
and passenger earnings from anywhere in India.

A) eDisha
B) eConnect
C) eDrishti
D) eRail

132) YR & &1 I W A1 3R arsr 3T & IIY-T1Y oAt 1 JHY &7 greidy TR AR I8 & faw 2018
H 3R] fhT U AiTredaR i UgdT Y|

A) 3-fem
B) §-saee
C)gefee
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D) 3@

133) Which of the following sports is associated with Deodhar trophy?

A) Cricket

B) Lawn Tennis
C) Football

D) Volleyball

133) fPafafRd & 4 &9 91 9d ¢aeR hhr 4 gefdg 2

A) frre
B) dlF for

C) pesia
D) arefater

134) Duleep Trophy is associated with which of the following sports?

A) Hockey

B) Cricket

C) Lawn Tennis
D) Golf

134) fasfi 2hPr Fafafad & O fre 99 @ defia 82

A) gt
B) frdpe
C) a-efora
D) siew

135) The Northeast Frontier Railway (NFR) won the best innovation award in the Indian Railways
for the fiscal year 2018-19. What is the name of the innovation?

A) Nano Ganesh

Page580f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

B) Plan Bee
C) Nanneer
D) Bhungroo

135) GafeR THId Idd (NFR) 7 faciia o 2018-19 & forw YR Id 61 TEHS AqRadeT JREPR
ST 8139 TaRR 1AM #4182

A) 371 IO
B) carmer st
C) desiix
D)qig-R;

136) Which movie won the award in the category of 'Best Documentary Short Subject' at the 91st
Academy Awards?

A) Black Sheep

B) End Game

C) A Night at the Garden
D) Period. End of Sentence

136) 919 UbSHI 3rar$H 7 foha fhest A ‘9 STargeic) eie Teotae’ T Aol 7 TFpr offdr?

A) s 2T

B) dsH

C) 31 5e Ue g ams
D) tiws US sl a=e

137) Wires carrying electricity should NOT be touched bare footed. This is because

A) the earth has high potential

B) live wire has low potential

C) live wire has high potential

D) wire carrying electricity has infinite resistance
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137) farsTell g art &1 77 W v HRUI Y ¢ T A0 T?

A) F2t R Rl BT 3T BT §

B) =it i wfip IR &1 7 o=t ST &

C) =it i @f3par dR 1 e 3= gdl §

D) ar2if fa farstelt bt AR T wfeRIer S G138

138) "Even a diseased person can donate eyes after death for another person in need." A person
suffering from or expired due to which of the following diseases can donate eyes?

A) Diabetes
B) Cholera
C) Tetanus
D) Meningitis

138) “Th TI0T cafd Hl Heg & §1G el QIR SRS ca e Bl SUHT 317 G PR el g "
frrIfarad 7 9 e ey & a1%a 1 {d cafed 30 QM PR Yol 87

A) aydg

B) &4

C) e sear T
D) afeass sax

139) Motilal Nehru and eight Congress leaders drafted a Constitution for India in the year:

A) 1926
B) 1927
C) 1929
D) 1928

139) AT 8w 3R FHT P 3T Aq131T 7 URD & farw fyemeT o1 7AeT fFa a¥ 3 IR fxar U1?

A) 1926
B) 1927
C) 1929
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D) 1928

140) The Joint Sittings of the two Houses of Parliament are held in the

A) Speaker's Chamber
B) President's Chamber
C) Central Hall

D) Committee Hall

140) HIE B alelt et T HYoFdT S eI AN T Sl &7

A) T BT IR
B) reeafa drdew
C) & et

D) afafa e

141) The celebration of 'Khordad Sal' marks the birthday of the prophet belonging to which
religion?

A) Sikhs
B) Jains
C) Hindus
D) Parsis

141) '@ieie TIA 1 3c0d e 997 T Hafa Yol & sledATeeT BT udie 872
A) R
B) &4

C) g
D) gt

142) Who launched the 'Shuddhi movement' to reconvert the Hindus who were converted to other
religions?

A) Brahmo Samaj
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B) Prarthana Samaj
C) Arya Samaj
D) Radha Soami

142) 319 &t 7 gRafda fhe MU Rgsll &1 g wRafdd &1 & faw ey s frae & fmar
Y1?

A) srgaT THIST

B) grefer IS

C) 3wt w1

D) J1em warey

143) The highest mountain peak in India is

A) Nanda Devi

B) Kangto

C) Saramati

D) Kangchenjunga

143) HRA & I SHatadd AT oI It 82

A) g1 ¢t

B) gra

C) IR
D) drestan

144) Match the following leaders in List | with their corresponding famous slogans in List I

List I List IT

(1) Bhagat Singh (a) Do or Die

(i1)) Mahatma Gandhi (b) Dilli Chalo

(ii1) Subhas Chandra Bose (c) Inquilab Zindabad
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A) (i)-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) (i)-(a), (ii)-(b), (iii)-(c)
D) (i)-(a), (ii)-(c), (iii)-(b)

144) FEI! | 7 eafaf@a Ad18i &1 = 1| 7 I Tefad aRiey ARt & 9y Fard|

TEIT Bsglitt

() HTTIRE  (a) HIATHR
(i) werem T |(b) fereett T
(iii) GHTSE IR (c) TPATRRIT]

A) (I)-(c), (ii)-(a), iii)-(b)
i)- (b), (ii)-(c), (iii)-(a)
i)-(a), (ii)-(b), (iii)-(c)
)

)
)
)
) (i)-(a), (ii)-(c), (iii)-(b)

(
B) (
C)(
D) (

145) Who among the following revolutionaries was NOT part of the Kakori Conspiracy?

A) Ram Prasad Bismil
B) Bhagat Singh

C) Chandrashekar Azad
D) Keshab Chakravarthy

145) e i@ FfaeREl 3 ¥ S HeRY ¥387 &1 feear 787 82

A) I gare; Tt
B) yra &g

C) Teg ey 3ol
D) &2 wrshadf

146) Which of the following options is TRUE regarding the tenure of a member of State Public
Service Commission?
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A)

B)

A member of State Public Service Commission shall hold office for a term of 10 years from
the date on which he enters his office

A member of State Public Service Commission shall hold office for a term of 5 years from the
date on which he enters his office

A member of State Public Service Commission shall hold office until he attains the age of 65
years

A member of State Public Service Commission shall hold office until he attains the age of 62
years

146) T AP QAT AT & G b HIIH & TR #F folet 7 F D T {aveq TET 872

A)

B)

T Tl T 3TN BT HEET U AT b Ugel et & 10 HTel ¥ 3/ & faw Ug URul
ERUll

T Tieh YaT STANT BT HEET 3T A D UG et 5 el hr 3rafer o fow U yRUT &
qHdl &

I T YT SN BT T 65 T & 3 b UG YRVl HR Yobell &
T TN YT STANT BT HeET 62 a§ T 3T T UG YRV HR Gabell §

147) Shanti Swarup Bhatnagar Prize is one of the prestigious multidisciplinary science awards in
India. Who won the Shanti Swarup Bhatnagar Prize for medical science in the year 2018 ?

A) Thomas J. Pucadyil

B) Ganesh Nagaraju

C) Deepak Gaur

D) Ganesan Venkatasubramanian

147) 2 Ta&T HSATR TR HRA # wfafted 9g-Rvas R [EaRt § T g1 a¥ 2018 7
fafrear faame & fore 2iifa Tawa HeATR JRER fras Siidl?

A) YT . GopifEer

B) wrursr RIS,

C) Graer 1R

D) M01RM deregsAvTT

Page640f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

148) In January 2018, the Union Minister for Earth Science inaugurated the High Performance
Computer (HPC) System named ‘Mihir’ at which of the following places in India?

A) Patna
B) Noida
C) Lucknow
D) Jaipur

148) HET Y-t A 4 HRd & Reafafad & 9 ffa Tore W AR T & 309 e dege’
(HPC) fa¥eH &1 ST=1a3l 2018 H 3™ fohar?

A) get
B) Awer

C) s
D) SR

149) Who won the 'FIFA Young Player Award' for his performance at the 2018 World Cup?

A) Diego Forlan
B) Paul Pogba

C) Kylian Mbappe
D) Ronaldo

149) 2018 3T HUF U ygTeT & T 'HIHT ITT Tory TFHR fohdrey Siid1?

A) f3Tam BlelieT

B) gret it

C) srrsfore vy
D) Qerear

150) Who won the silver medal in the category of Badminton in the Rio Olympics 20167

A) Saina Nehwal
B) P. V. Sindhu
C) Sania Mirza
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D) Uma Maheswari

150) R 3eife 2016 # Ssfaee v Aof 7 9/ Ugd fordet Siidl?

A) 9131 Agard
B) . . fifeg

C) aifaar fAsT
D) 31 Ageady
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Section 4 - Techincal Knowledge of Bio Chemistry

No. of Questions: 50

151) Which of the following options is a monosaccharide?

A) Cellulose
B) Amylase
C) Starch
D) Glucose

151) fre=ifaf@a & § &H 91 Reed T A9 RZS 8?2

A) S
B) wrArsaid
C) zes

D) srepiat

152) Thymine is also known as:

A) Pyrimidine Nucleobase
B) Purine Nucleoside

C) Hormone

D) Protein

152) A1sfAeT frg 3w A1 & o S et 82

A) arsdifadi TRFerea
B) coe RIS
C) grsifer

D) rérer

Page670f90



Setld : 61775 3 Technical Assistant (LAB) - Bio-Chemistry BATCH1 180CT2020

153) The molecule in which ribose sugar is linked to a nitrogen-containing organic compound is
called

A) Nucleoside
B) Nucleotide
C) Nucleic acid
D) Ribotide

153) T8 U] P! FT BTSN § Toraet ASaIS IR Bl ATSIoleT el FHlaToreh I T TSI 52

A) Fereii3iraTgs
B) =gfFeraiterss
C) =afeos vias
D) J1galerss

154) Thrombocytes are also known as:

A) White Blood Cells
B) Red Blood Cells
C) Platelets

D) Collagens

154) greararse &l g 3w 91 Q Y 7 ST 82

A) QT T HIRAHT
B) €1et T M1
C) coeare
D) s

155) The growth hormone which brings about the enhancement of amino acid transport through
the cell membrane in humans and is secreted by the anterior lobe of the pituitary gland is

A) Somatotropin
B) Guanylin

C) Hepcidin

D) Orexin
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155) Tg e graifel Sl H-sat & RIS Broeh & AegH Y SHH! vfis yRas Sl dgraredl g 3R
Rreged! 1Y & Ydeer 9 earT anfad 811 3, et @

e
B) Tuarsfom
C) goad=

D) st

156) The marker enzyme present in the mitochondria is:

A) Acid phosphatase

B) Beta-D-glucuronidase

C) Beta-N-acetyl-D-hexosaminidase
D) Cytochrome oxidase

156) TSI 3T 3 TIS[G A TSITSH &

A) ofis BReReT

B) dier-D-sepRIH TS

C) dicl-N-vfafed-D-ararardiazg
D) argesmiar sifereidsr

157) Which among the following options is NOT a water soluble vitamin?

A) Vitamin B2
B) Vitamin B3
C) Vitamin C
D) Vitamin D
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157) faeafaf@d st &  HH 91 Ul & gaie Rerf@e 7t 62

A) fgerfae B2
B) faerfaer B3
C) @ c
D) fgerfa=r D

158) Which among the following options is the diagnostic enzyme for acute pancreatitis?

A) Hexokinase

B) Serum Amylase
C) Vinblastin

D) Glucokinase

158) fre=tfaf@a & q HF U1 feed g 372y & faw Aerfaes TEH 82

A) geraiferaa
B) Ike wHIgee
C) faetarmates
D) soeiferare

[aY

159) Which one of the following urine test procedures consist of Freezing point depression
devices?

A) Hydrometry test

B) Specific gravity test
C) Refractive index test
D) Osmolality test

159) fale=t & Y D W 7 weqor 9fehar & AT g SfaTdT IUBRUBIAT 87

A) grsgiady eee
B) fafrse e adragor
C) srqacier Yarabics wlraTor
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D) sirertenfory exe

160) The Ministry of Health and Family Welfare in India has launched the Weekly Iron and Folic
Acid Supplementation (WIFS) Programme, whose objective is to:

A) Reduce the prevalence and severity of anaemia in adolescent population (10 - 19 years)
B) Reduce the prevalence and severity of malnutrition in children (3 - 12 years)

C) Blindness eradication

D) Scurvy prevention

160) HRA # Tareey 3R IRER FHeAT0T HATET 7 Arcdifes R 3R wifers ufds afttasiers
(WIFS) st & foham 8, et 3682 ©:

A)  fHeiR 3TETET (10 - 19 9€) 3 AT & cargendr 3R THRAT &1 &1 BT
B) seait (3 - 12 a) & HUINUT Y caraeha 3R THRAT B HH H=AT

C) 3 fAemEr

D) wrdf fr AU

161) The primary function of carbohydrates in a human body is to:

A) Maintain proper pH of the fluids in the body

B) Promote growth and repair of tissues of the body
C) Supply energy to the cells of the body

D) Provide structural framework to the body

161) A 2R & Fefesac & IAfHE 13 8

A) eifIT 3 TR verdf &1 3R pH F9E &A1

B) ik & et &1 & fer 3R #REA DI a1 ol
C) erdre 1 AR B 3 B AR HET

D) eRR &1 TX=reitcd GBIl yereT Bl

162) Which of the following nutrients is essential to prevent 'Goitre' in humans?
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A) Calcium
B) Iron

C) Vitamin A
D) lodine

162) ALSAT & 3R & AHUM & fAv Reaafaf@d & § $IF 1 UV ded 31T 67

A) HirrH
B) armex

C) ferfa= A
D) smarsH

163) The antigen-binding site on the antibody is known as

A) Epitope
B) Hapten
C) Adjuvant
D) Paratope

163) TAETE W UAST-TUaHRT ISC DI &A1 Hel SIdl 872

A) T
B) gueH
NASE e

D) tRrem

164) Which of the following options is a primary lymphoid tissue in mammals?

A) Thymus

B) Lymph node
C) Spleen

D) Follicle
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164) TITUTRAT 7 Aefaf@a & ¥ oH I Reeq T wiafie fFmiss SHade?

A) YT
B) forew s
C) eeafier
D) wiferener

165) Which type of immunity is present at birth of a human being?

A) Innate Immunity
B) Acquired Immunity
C) Adaptive Immunity
D) Specific Immunity

165) FLST & Sfedl B GHY T3 T 1 GTRET TIS[E BIal 62

A) SeraeTa gfaret
B) gurea gfaretm
C) arqeeh uferat
D) faferse gfarem

166) Which of the following options is NOT a plant hormone?

A) Auxin

B) Thyroxine
C) Cytokinin
D) Gibberellin

166) fre=Tfaf@a & ¥ S I [{sed UGy grafe el 82

A) 3T
B) amerifeaet
C) argafriae
D) o fare
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167) Read the following statements and choose the CORRECT option.
(i) The living state of an organism is an equilibrium state.
(i) Without metabolism there cannot be a living state.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

167) fAeaAfaf@d Fuat o1 9 3R T8 Ashed ot
(i) oY Sita Y Tolla 3aeT Th e & a5
(il) TATTTT & 1T DIg Tol1d AT 8T 81 gbal |

A) (i) wéY B 3R (ii) T&r 8
B) (i) wér & 3R (i) Tod §
C) (i) Tad § 3R (i) e 8

D) (i) Tad § 3R (ii) T B

168) The bacteria which helps in nitrogen fixation is

A) Salmonella

B) Streptococcus

C) Rhizobium

D) Haemophilus pertussis

168) Sl STV wATgeIeteT FE2RIeHuT & HeQ Hdl 6, e &:

A) FrerTeT

B) £¥ueraaa

C) Trzanfaas

D) geftherer Regfae
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169) The combination of the apoenzyme and the coenzyme results in the formation of a functional
enzyme known as:

A) Isoenzyme

B) Polyenzyme
C) Holoenzyme
D) Hydroenzyme

169) TUIGSTEH 3R HIUSZH & YOI T Th FrdicHes TZH P13 gidl ¢ o a1 ST 82

A) 3rEHIGSTEH
B) arefidssa
C) grefdsigH
D) grsgiismsa

170) D-xylose is an example of which type of monosaccharide?

A) Pentose
B) Hexose
C) Heptose
D) Tetrose

170) D- STEAIS (D-xylose) fF& TR & A IHIRIZS BT T IaE01?

A) Jeerer
B) grirar
Clag
D) eerer

X

171) Usually, the alcohol that is added for the precipitation of nucleic acids during isolation is:

A) Methanol
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B) Butanol
C) Phenol
D) Ethanol

171) SAR WR, feretel & GRM wgiFeieh TS & 3aaiq0T & forw foie= oy 3roehiger o1 SiST STl
82

A) By=ia
B) st
C) fRpaiter
D) gd9Ta

172) What is the role of permease in lactose operon in bacteria like Escherichia coli?

A) Degrade lactose

B) Transport lactose inside the cell

C) Detoxify lactose related metabolites
D) No specific role

172) TEARTRIAT PIATS oY SR & dererst ORI & wiFres & Yifewr #4152

A) dererst B forraiierd HaT 3

B) 9d & 3R dFerst T aRagT

C) dareter A waftra et ) S fFawTS Bl 8
D) 31 fafarse Yfdya =81

173) Which enzyme is responsible for separation of two strands of DNA before replication starts?

A) Pronase
B) Primase
C) Helicase
D) Ligase
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173) Yf3S Y & 81 A UGel DNA & &l Tl I AT B & o B A1 USl3H THeaeR g7

A) gt
B) yrasia
C) gforra
D) emgi

174) An essential fatty acid that is the precursor for eicosanoids is

A) Nervonic acid
B) Ascorbic acid

C) Arachidonic acid
D) Stearic acid

174) U 392 $hé) Tfs Sl fF SHIA-ISE & forw fieweR 8, e &

A) adffaes Tl
B) wrifes ufig
C) wufraifas vhis
D) #érafts vfag

175) The essential amino acid which CANNOT be synthesised inside the human body is:

A) Glycine
B) Proline

C) Leucine
D) Alanine

175) 98 37d2g 3HA! ufds S AFa R & e Geafia 7€) favar ST 9bdl §, 9 ©:

A) Temsia=
B) vrems=
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176) Among the following options, sulphur containing amino acid is:

A) Proline
B) Serine
C) Cysteine
D) Tyrosine

176) fAFaTaf@d fased & I Tewt gord S vfls B 11 82

A) sreseT
B)@ﬂg—,{
O fede
D) ererifaeT

177) Large quantities of Heparin are usually stored and synthesized in

A) Spleen

B) Thymus

C) Mast cells
D) Leukocytes

177) 3MHAR TR 2aReT H TSTATT Bl FIET 3R TR fraa frar Srar g2

A) feelr (Toelie) 3

B) yrgmy &

C) Arqd SRt (Fee 9d) &
D) egoplamge #

178) Which among the following options is a pulmonary function test?

A) Colorimetry
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B) Manometry
C) Respirometry
D) Spirometry

178) Peafaflid fashedt & § P A1 U6 PG Sl aeTor (Tealady therelel 2Ee) 82

A) Preaiadr
B) #=ody

C) yemad
D) Fargaierdy

179) The part of the brain that regulates respiration mechanism is

A) Cerebrum

B) Cerebellum

C) Medulla Oblongata
D) Spinal Cord

179) ATETSF P I8 REAT SN 298 a7 B! A fa PR 8, 9o+ &

A) afeH

B) afteem

C) Aget 3ffsetiarer
D) sqrgeter 1S

180) Usually, after the intracerebral haemorrhage in patients the cerebrospinal fluid appears

A) Yellow in colour
B) Blue in colour
C) Green in colour
D) Colourless

180) 3MHAR WR, AT F Scrsrel TWaaTa & 9l ATETSHAT ga fha I F @S <a1 g2
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A) did 317
B) et 37 3
ClgRima
D) &1

181) Chyluria is a medical condition involving the presence of chyle in the urine stream, which
results in urine appearing in

A) Green colour

B) Pink colour

C) Copper Sulphate colour
D) Milky White colour

181) TTSARAT T Frfdrcar Reufy 8 foraed 0 &7 URT 31 I19q 41 3ufeafy 81 8, Rd afomseasy
UM forer T frars 3T 82

A) g

B) Trarsit 3

C) HIR Fathe [T
D) gfrar qbe 3

182) McArdle's disease is usually caused by the deficiency of

A) Muscle isozyme

B) Debrancher enzyme
C) Acid maltase

D) Myophosphorylase

182) Her3MSer T AR MHIR WR o=t # T frg & HH! & HRUT BT 87

A) ATd TSIISTgH
B) Ssieax UoIgH
C) ufas Arcest
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D) el reRIEe

183) The deficiency of which vitamin in a human body can lead to bleeding disorders?

A) Vitamin A
B) Vitamin B
C) Vitamin K
D) Vitamin E

183) AT RR 7 fre Ferf@eT & B! ¥ I@aqara f[(AFR 8 Jhdl 82

A) fgerfa= A
B) ferfaer B
C) fyerfasT K
D) ferfaer E

184) Which vitamin is also known as Cholecalciferol?

A) Vitamin A
B) Vitamin Bs
C) Vitamin Ds
D) Vitamin E

184) fre faeIfAe & Aok foathiter & A1 & Y ST S7raT g2

A) e A
B) faerf@eT Be
C) faerf@=1 D3
D) ferf@=r E

185) The incomplete antigens in a living body are known as:

A) Tens
B) Haptens
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C) Adjuvants
D) Antibodies

185) T S eRIX & 3ot T&reteT Pl T BTSN 57

A) eF
B) 3u+
C) Tegae

D) térgte

186) Read the following statements and choose the CORRECT option.
(i) Cell-mediated immunity is usually mediated by T lymphocytes.
(i) The humoral immunity is mediated by antibody molecules that are secreted by plasma cells.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

186) o=l HUaAT B I& 3R TE Aehed et |

(i) A -FTETEAAT TTRET AR W T foFrraTse! canT HEaedr 3|

(if) EFHRT SFYFAET BT AT TSI SHUST EaRT Y STl & Ol ColeAT RT3t garT Tnfad gid
gl

A) (i) TEr 8 3R (i) T &

B) (i) @& & 3R (i) Ted §
C) (i) Teid § 3R (i) TEY B
D) (i) TTad § 3R (ii) T B

187) The cells that usually store fats are known as:

A) Adipocytes
B) Leucocytes
C) Monocytes
D) Lobocytes
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187) MR WR I B Gafed HRA arely HITRAHIHT DI T BRIl 872

A) TfisaraTse
B) sgerarse
C) 91 u1ge
D) derarge

188) Read the following statements and choose the CORRECT option.

(i) A typical enzyme molecule can convert 1,0000 substrate molecules per second.
(ii) The rate of an enzymatic reaction increases with increased substrate concentration.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

188) fAeaAfafd et B 9 3R L Fhed Il

(i) T oy TSTTgH 31U 1,0000 Hedee SU[SH Pl 9fy Yobs aRafcld P Gavdl g
(if) & B AT Tigelr b Y Teb GoirgHl wiafnar i @R §g Wil ¢ |

A) (i) TEr 8 3R (i) T ©
B) (i) @& & 3R (i) Ted §
C) (i) Tad B MR (ii) TEr B

D) (i) Teid & 3R (ii) TTerd ®

189) In solid phase synthesis of peptides, carbodiimides are used as:

A) Deblocking reagents
B) Blocking reagents
C) Solid support
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D) Coupling reagents

189) Utergs & Hifels ol HRavoT & e fEATSsH BT ITAN frg &9 & T ST 872

A) St Rusie
B) saiifert Rusie
C) gifers g

D) sufeiar Rusic

190) Tay-Sachs disease is a neurodegenerative disorder in which deficiency of an enzyme results
in the accumulation of fats known as

A) Gangliosides

B) Phosphatidylcholines
C) Phosphatidylserines
D) Histamines

190) ¢-der I T LR e AR ¢ foraet b USIeH i HH! & gRumme TowT 1 B SHI
BIdT 8, 39 9T &l &1 HETSIdI?

A) FrifTerararss

B) mrehérdierantesa
C) mrehrSreraRrs
D) feeecwars

191) Which molecule is also known as "Catalytic RNA"?

A) mRNA

B) tRNA

C) Ribozyme
D) rRNA
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191) T (U] BI "Shefafesh RNA" & A1 & ST ST 87

A) MRNA
B) tRNA

RECIE IR

D) rRNA

192) Southern blotting is a laboratory technique used to detect which of the following options in a
blood or tissue sample?

A) Specific DNA sequence
B) Specific RNA sequence
C) tRNA sequence only

D) mRNA sequence only

192) T sellfear U GARTRITET Ah11oh & orepT SUANT, T Ikl AT SHadhd T &, et & 9 v
feheq BT A TR & forw famam ST 52

A) ferer TafRIse DNA e BT
B) freit fafRIse RNA 35 &1
C) e tRNA 315 I
D) &aei mRNA 3fshaT I

193) What is the significance of Shine—Dalgarno sequence in Prokaryotic translation?

A) It has complementary sequence to 16S rRNA and hence ribosomes attach to it
B) It facilitates translation of the mRNA while it is still getting synthesized

C) ltinitiates binding of tRNA to mRNA

D) It acts as a translation termination site

193) MHRANEF i & WMZT-SRTRAT SIsha P FT Hgcd 87

A) ae 16S rRNA BT TR 3fTsha § 3R SHTAIT ASNIH 38 Ferael P &
B) g8 mRNA & ciaere & Heg odl ¢ 9id I8 TRad 8l <gTa!
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C) =g tRNA BT mRNA & e &1 Ie37Td T 8
D) g% Uh eraaer e Ise & &9 & $r B §

194) Choose the mutagenesis repair mechanism that identifies the mutated DNA segments based
on methylation pattern.

A) Excision repair

B) SOS repair

C) Mismatch repair

D) Recombination repair

194) I8 3caRadetiaie FRFAd (RI) Branfafer Io1 off Hemseer teat & YR W 3caRkafda DNA
et $r UgaH Rl

A) TeredreT R
B) sos Rk

C) fgaa R

D) Reptraiererst R

195) Read the following statements and choose the CORRECT option.

(i) The G1 phase is a period in the cell cycle where cells do not divide further and exist in a
quiescent state.

(if) The division of the cytoplasm of a cell following division of the nucleus that occurs in mitosis and
meiosis, when a parent cell divides to produce two daughter cells is known as Karyokinesis.

A)
B)
)
)

(i) is TRUE and (ii) is TRUE
(i) is TRUE and (ii) is FALSE
(i) is FALSE and (ji) is TRUE
(i) is FALSE and (i) is FALSE

C
D

195) AT Ad FUAT B I SR TE Rehed ot |

(i) G1 o], PIR1eRT Tk & T 37T & OgT PIAATT SN Rsmiora =187 g1l & 3R U A fSha sraear &
HioE gt 1
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(ii) TTSEICHATSH D YT Sl AT D (I D I1G FHYTOT SR 30T & Il 5, SId T HIl-
T IR Gl 38T FIRFHIAT BT AT PR & fore [Fsnforg 81 8, FRifdRT dean 3|

A) (i) TEr § 3R (i) T8 &

B) (i) €T 8 3R (i) Tad §
C) (i) T & R (i) @ET 7
D) (i) TTad § 3R (ii) TeId &

196) Albumin, alpha-1 globulin, beta globulin, and gamma globulin are electrophoretic fractions of

A) Amylase

B) Amino acid

C) Serum protein
D) Fatty acid

196) TesgfAe, 3TeWhl-1 Tolsg o, dicT Tasafost 3R T Wﬂﬁﬁ%ﬁmﬁ@ﬁqﬁwﬁk
SolareIhR e 3RTE?

A) effrerst

B) vfa vfas

C) IRY wéT

D) %ér vfas

197) In humans, uptake of which of the following nutrients can significantly reduce the risk of neural
tube defects (NTDs), such as anencephaly and spina bifida during pregnancy?

A) Sodium

B) Phosphorus
C) Folic acid
D) Cobalt

197) Tsat &, foeeT 7 @ fohg UV deq & 7607 W, a1aear & R Wf=dthel 3R EargaT fafther
Ol 73 €9 QY (NTDs) & STQH P HIGT §& db HH fhaT ST bl 62
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A) afzae

B) wiewra
C) mifas vfas
D) spraree

198) Viral replication is usually inhibited with the help of:

A) Interleukins

B) Antigens

C) Interferons

D) White Blood Cells

198) ATART Tl SR W o=t e fashed &1 TeTadT ¥ wfaefd gl o7

A) Sexcffarew
B) vdrster
Chdeaip i

D) ar8c o1z O

199) The hormone Auxin is usually synthesized using a precursor known as:

A) Tyrosine
B) Tryptophan
C) Histidine
D) Glycine

199) gTHfT 3T BT THAR TR TP NHE BT IYTNT B Geaa fHar ST §, S a1 Haard
e

A) erRifds
B) Recerther
C) e
D) Tosdie
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200) Which of the following intermediates are involved in biosynthesis of ascorbic acid in
mammals?

A) L-GalLDH (Galactonolactone dehydrogenase)
B) L-GalDH (Galactose dehydrogenase)

C) L-GalL (Galactonolactone)

D) L-GulL (Gulonolactone)

200) TATETRET & TERITah TS & Sradayvr F Heafaf@d & ¥ & § Agadf (Seehzue)
QAT 82

A) L-GalLDH @rerereidioaelsT Sgissraiaid)

B) L-GalDH (Freiree Sgrssisiaid)

C) L-GalL (Fremeraiatoaes)

D) L-GulL (Tei=iereeieT)
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